{éwmﬁm&mqﬁuﬁm(mn geft ), wradt 2020

A% . L [

- - [A
0322

U . 11 Wtﬁ A% : 1,30 A 3,00

C{B:n : Wwaww TR oT 7T : 150J

T F1 S| W ¥ Tl FrEfafea fR S o @ 9g

(1) 39 we 9 & 2w &) 9 1§ g o & 1 @ 25 3o # o am I A afgw =t &
26 ¥ 75 WA B T+t 75 WA ot €

(2) TH U F 2 FF B

(3) T '@ FW H gEA G 90 e B . |

(4) = forad 2 fou oem & Soed 5 9 2 WEE W @ 9R fawen Ky #) 3% em
F 92 FE SW F 979 HL AN IW THF § TEiEd FHU
- AR T F. 6 1 el fahed 2 7, A TN IW W WER TS AL

‘v 9. 6 - 0] [©6) !

(5) FfFHan 20% FE B 3 WE fawed fRu U €| SEKER I WEl IW F WY A Al
F1 Fel FHE T S T A A 5 fawmedt #1 we w1 Ry g |
| & fag- 3 39 W S%Wuﬁﬁwzaﬁt:;%aﬁmm
TH YFR 35 H- 791 4 8 09000 |

(6) fodl =1 ®9 A 35w Y IW W =R TS R Smem g9 q@ & SW A A A6 S
e s .
(7)Tﬁé#mwﬁa}mﬂﬁﬁmmﬁaﬂﬂmmﬁtm@mmmfhﬁf

‘ s AE WA fE S

(3)@mﬁmmaﬁwﬁwaﬁﬁwmmﬁ

(9) wEF = @ A9 & M EE W A AT @ g W T we R s

(10) e 1 Wi T ¥, 4% 9 FE F T W A I E, A e WA v w7 A
ferd T Y B T U M WA H FA HW F A FFHA L i

(11) afz smeE FE WA A0 A1 A T ¢, @ wihaE a1 B 9 W fE A WL

(12)Wﬁzﬁmaﬁ/mﬁﬁaﬁ%mﬁﬁmﬂm-ﬁmaﬁﬂwmmmm
mﬁﬁmaﬁﬁﬂﬁﬁmmlﬁaﬁﬁmﬁﬁfmﬁﬁﬁgﬁﬁmm,
it & Hiead 8 e gsiea s S A

(13)m¢mﬁmﬁzwaﬁﬁnmw%m%wﬁﬁ%‘ﬂmaﬁﬂm@m%f
AR Usiighd HUEl Sl =feul

(14) v § TR0 A1 TRET 37 Mot W fagey wiufy @ FoiE @ Em
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Instruction for Q. 1. :

Ahmadabad, Feb. 15, 2016 i

A team of Indian and German scientists working near Bhuj in the Kutch
region of Gujrat had found a big fossil of a dinosaur-in hill in Lodai village.
On Saturday they found more fossils. The new fossils include skull, jaw, and
some teeth of dinosaur. A sample of fossils has been sent to Munich, Germany
for further testing. i

1. The above news tells us about.......
(1) The scientists (2) Ahmadabad
(3) Germany : (4) Dinosaur fossils

2. Completé the dialogue with correct option.A

Meena -: I am getting ........... It's too cold here.
Mother-: Don't worry dear. I'll bring sweater for you.
(1) Bored (2 Confused
(3) Tired (4) Chilled to bone

3. Choose the correct optxon for the following slogans
The following slogans are about........

| Whowﬂlkeep 1tclean,1fyou dﬁ]

Hmw plants not garbngJ

rKnep your area clean and beaunfuT]

[Don't spoil, don't defile }—{ 7

(1) Earth (2) Education 3) Envn-onmem (4) Cleanliness
SPACE FOR ROUGH WORK ~
0322/ Hindi Set-A 20f32 DT 57 BTOF

Instruction for Question No.- 4-6 : Read the passage and choose the correct
option. j R S SR,

Kabir was one of the great personalmes in the history of our country. He lived
hundreds of years ago, but his poems and teachings are sung with love and
reverence even today. Hindus, Muslims, Sikhs, all think of him as a great Guru, .
teacher and religious figure. Kabir taught people devotion and humility. He wrote
couplets and (dohas) and short poems. Though his compositions are short and
simple they convey profound meaning and wisdom.

4. Choose the correct option.
" The passage tells us about............ §
(1) The history of our country PR L
(2) The information about Kabir-a saint poet S s
(3) The different religion : :
@) Kabir's childhood e S
S. Which 'Hindl' word is mennoned in the passage?
(1) Sung S (2) Figure f
(3) Doha S ies @ Ago i

6. Complete the web by: choosing the corre

(1) Love :
(3) Devotion
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7. What is the mood in the following short-note ? o
Choose the correct option.
TI'm always there in your hour of need.
May his\her soul rest I peace. Words fall short to express my SOITOW.

(1) Happy
(3) Sad

(2) Surprise
(4) Wonder PSS

8. Read the following procedure and choose one correct alternative.

(2) Making idilis
(4) Making desserts -

(1) Washing cloths
(3) Making rotis

9. Read the following riddle and choose one correct option.
I'm tall when I'm young.
I'm short when I'm old.

Instruction for Question No. 10-11 : Read the passage and choose the correct
option. "

Grate a couple of medium sized beetroots and soak them in a little v;ater After
a while, you will get a beautiful dark pink-red colour. Add it to a bucketful of water.
The red jaswand (hibiscus) flower will give you a deep red colour. Dry the petals
of Zendu (marigold). Then you can powder them to get an orange colour. Even
you can dry the leaves of neem, mint, corriander, spinach to get a dry green powder.
If you crush or grind the fresh leaves you get dry colours and if you add the paste
to water, you get wet colour. So talk to your mother to find out what other things

10. Match the pairs.

A E B
(1) Jaswand (a) Pink-red
(2) Spinach (b)‘Deepred L
(3) Beetroot (¢) Green
(4) Marigold (d) Orange

(1) 1-d; 2-b; 3-a; 4-c
() l-c; 2-d; 3-b; 4a

11. Choose the correct option for the
(1) Colours

(2) Celebrate holi with nat
(@) Celebration 3
(4) Festivals . rfu

What am I ?
(1) Tree (2) Candle
(3) Egg (4) Stick
SPACE FOR ROUGH WORK
0322/ Hindi Set-A 4032 RT.O.
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12. Choose the correct alternative.

Hrishikesh was awarded as a ‘best student of the year’. Find out three adjectives

which suits him.

(1) Good, honest, brave
(2) Big, quite, bad

(3) Calm, nest, ago

(4) Big, tall, ball

13. Choose the corr'ect alternative from the folloiving;',

o
-]
«©
w

-

=
o | ue =2
a

T| -

o |~

o
@
2
e-}
o

Eol = =]

(1) The sun is not as hot as tea

(#3) The candle is hotter than fire

(3) The fire is hotter than candle

(4) The candle is hotter than sun

I

SPACE FOR KOUGH WORK

0322/ Hindi Set-A

 60f32

. 16.‘ Choose 1

14. Go through the following diagram and choose correct alternative.

G = -
: The mother asked if
I could saw the rainbow.

e
? The mother askec

~ he could see the rainbow.|

The mother said e
| "can you see the g
rainbow?"
3
The mother told that
| he could see the rainbow
1) 4 @ 1
@ 3 @ 2 G

15. Find out one correct alternative of type of tense of
* When a farmer was returning home fr ;
- the sky. OIS (7 =

« (1) Simple past tense
(3) Past continuous tense

object and its act
My toy had b
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17. Choose correct alternative.
If where: place, why: reason then when:........s

(1) Quantity ) Suggestion
(3) Manner

18. Choose the odd man out. Choose one correct alternative.
g 3 e (2)54
¥ ’ ?
can mty mtst dJ(') (3) 1 @ 2

@ @ 6 ©

19. Choose one correct alternative of the following. «
Last week grandfather wanted to visit Kashmir. He boaked tlckets

(1) Noun (2) Verb
(3) Adverb “) Adjecuve

20. Choose one correct alternative to form exclamatory sentence
a / what / dream / it / horrible / is !

(1) What a horrible dream it is!

(2) What a dream horrible it is! 7
(3) It is what a horrible dream!

() What it is a horrible dream!
21. Choose the correct alternative. Find out the word which has not suffix.

@’.

(4) Time 5 3 [

- 23. Read the following sente;xces “Choose the com.-,ct éltéfnnﬁve

Mention

®

Prescription /

(ﬂl:)‘4‘ul‘ "7,‘(2)‘2
(3)3 Pt gl (4)1

SPACE FOR ROUGH WORK ———— !
—————— e ~

0322/ HindiSet-A st S

22. Choose two correct alternative from the following. o o
Dinosaur were reptiles. There were many different types of dmos'
dinosaurs did not lopkiseis o
' (1) Different @) Similar )
_ (3) Unlike @) Alike e - ,

' When Mr. Yaday gets back from his office, he expects his servan t

~ hot “meal wmtmg s e ... him,
(1) For oMt T : @) At '. v “\g, -
1(3) ‘From S @) of :

24. Choose correct alternative fmm the followmg epﬁo
Whlch word is related to eye?

(1) Cite
® si .

vy

Scanned with CamScanner



[ABCDE [ FGHIJ | KLMNO PQRST [ UVWXY]

SECTION-

INTELLIGENCE TEST

26. Form a meaningful word from the letters PTECSIROIND Use numerals 1, 2,
.. for every letter. Find the correct option from the following that makes a

meamngful word from the word so formed.

@ 7,51 @3, 1,2 (@) 52 1

mims
27. From the given alphabet series, choose the pair from the given options, which
is at an equal distance from the 11th letter from the right. [select two correct
alternatives] J il
1) D, R ) 'P,, F

@F X- (@)FTET:

Q. 28 and 29 Directions : Study the followmg number series and answer the,

qunsuonsthmfol]ow
23342532354?1423}253215342'53'2423"

28. How many times an odd “number is mmedlately followed by an even number
but not preceded by even number. 5 T

(1) Six (2) Four (3) Five @ seven} .

29. In the given number series, which numbe: has occutmd h;ghest num'ber of -

times ?
4 : @3 (@)F2 0 @ 5
& T ‘
'SPACE FOR ROUGH WORK
0322/ Hindi Set-A 10032 —
s — — s .

: v 2815 29% Rmz— % m aﬂm 23

[ABCDE [ FGHIJ [ KLMNO [ PQRST [ U
mmwn' 57 - Sy

2. wemzm’aﬂaa@ﬁwma@wﬁmmvﬁmﬂ
‘el seddren e WM e

‘(1)'3’35 (2)331‘

27:% Wﬁwmﬁmﬁ#mﬁmqﬁwﬂmﬁ*;
%Nﬁvﬂwﬁgﬁw) & L'

'xnmk @F, X @LT

(2334253235401
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Q. 30 and 31 Directions
doctors, circle represents fnnnera. hexagon represents authors and quadrilateral represents

carpenters.

: In the following venn diagram, ‘riangle represents

30. Which of the following options indicate carpenters who are farmers.

(1) JKLI

(2) IEFG (3) EFDC

(4) HCLM

Which of the following letter indicates dqclors who are only authors,

(L) I

@3 M

2) A
(4) None of the above.

32. Find the position of the 7th letter which is to the left of 12th letter in the given
alphabet series. [select two conecl options]

(1) 21st from right
(3) Sst from right’

(2) 21Ist from leﬁ
(4) Sst from left

3

33. 150 streamers of different colours are arranged in a garland, The colours follow
u specific sequence, red, yellow, green, blue, violet, white and orange, Which
of the following option will not carry violet coloured stream 7 [seleet the correct

alternatives]
(1) 68 (2) 89 (3) 115 (4) 04
SPACE FOR ROUGHT WORK —
0322/ Hindl Set-A 120132 ‘,. ,m}"%wi ;

S

\
\

-

" [ABCDE] FGHIJ [ KLMNO [ PQRST |

w. 30331$M—W"ﬁﬂ§h5ﬁ?ﬁfq}ﬁmﬂﬂw.aﬁﬁfﬁmﬁ—
A wEw o T ¥ wed fam o i

?ﬁmﬁmﬁiﬁﬁmm%mwh\
(1) JKLI (2) IEFG (3) EFDC

31;“@%“%%%‘#@!'@”'
) K : (2)A : OR}

32, mﬂmmtewmmmwm
mm\". LA Bt RV
(1)mmamm
(3)@%@“ ‘

'lm-,,
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|
| 34. Akshay is younger than Vishal by 125 days. Akshay is born on Saturda)’ 13th
' Aug. On which day was vishal born ?

(1) Sunday, 10th April

+

(2) Friday, 16th December
(3) Sunday, 9th April
(4) Thursday 15th December.

35. Find the number of quadrilaterals in the given figure.

a 12 _ @ s ;
®3) 17 : } .(4) 14

A
i

g 36. In the fo]]owmg series, determme the rule and find out the term in p]ace of the

question - mmk. i e
) 18 : (2) 21 . _
(3) 26 Ay 2T R
5 SPACE FOR ROUGH woﬁ y = 7
< :
W GzzHmaseA | et
|’ . N “ i

.

| 34, e, f‘maﬁlzsfﬁazrtlﬂﬁmmw 113>mmﬁaw

[ABCDEI FGHIJ | KLMNO |

A, ﬂﬁmmmﬁmfzzgmﬂw 4B e 1
(1) 10 31, Taam ‘
(2) 16 &=, ywar
(3) 9 ¥, wFER

(4) 15 fgan, Tean
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Q. 37 to 39 Directions : Identify the rhythmic arrangement of terms given below
and find the correct term in place of the question mark. ‘

3. MSTUNUNMSTSTUNMNMST?2?2?2NMS "
(1) UTU (2) STM @3) UTS (4) MsU

38.4257186817524257182752271757
M 1,87 @2 57 3)1,2 5 #1157

39. O*xA+Ox *OJA+XO*AOX+0772 +0O
(1) *xOxa @) axx0O.
3) xAaxO 4) *xA+0

40. Pramod’s present age is double of Amir’s present age. Pramod is younger by

2 years than double the age of Sarvesh, but Harshal is elder bylthre,e years.
Krishna, who is elder by three years than Harshal was 14 last year. If these are
arranged in ascending order of their ages who will be at the center ?

(1) Pramod (2) Sarvesh (3) Krishna (4) Harshal

41. In a certain code language ‘SOON’ is wntten as “O0SN’, ‘APPLE’ is wntten'

as ‘PPALE’, then how will you write “TEETH’ in the same code language ?
(1) EETHT (2) ETTEH | (3) EETTH (4) EH‘I’I’E :

42. A bus started at 6.40 a.m. tmvel.s at a speed of 45km/hr, At what nme it wnll
reach another place which is at a distance of 375 km ?

(3) 3.05 pm

‘ ;

(1) 2.55 p.m (2)3.00 p.m 4) 2.50 pm
SPACE FOR ROUGH WORK - 1
Wt
0322 /Hindi Set-A 16.0of 32

»

[ABCDE] FGHIJ | KLMNO [PQRST | U

. 37%39ﬁ#n§—mmﬁnﬂmmwnﬂmmﬁm#m
ﬂtaﬁwvmﬁﬁqmu

37. MSTUNUNMSTSTUNMNMST??27NMS

(1) UTU @ ST™ (3) UTS @ MU
} 33.8?‘10‘1:&zﬁu&?%?‘iw‘lu"@&?i’u‘lwlg"

L - L4}

D kede @240 (ORI @aee
39. OxA el e
39 +OX*EIA+><O*AEI><+O'!???+O =) b
3 1) *OxA (2) AxxD b

(@) *axd - (4) xa+0

40, mma@mﬁa‘mmme}uﬁtmaﬁ
’ﬂeﬂmﬂmamfﬂﬁuﬂwﬁ ﬂaﬁn"ﬁgﬂ!.
¥ = gm? 3 :
'“)W, :

41, &

& T
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Q. 43 to 47 Directions— In each of the following questions, reletion between 3rd
and 4th term is the same as that of between the first and the second. Find the term
to replace the guestion mark. -

43. Equal : Congruent : : Characteristrics : ?

4
(Select two comrect altematives) 5 -
(1) Feamres (2) Personality (3) Properties 4) terms i
44. Water : H)O::Salt : : ? : E
1) KCI (2) NaOH (3) NaCI (4) HCI |
45. 253 - 450 - - 341 - ?  [Select two correct alternatives]
1) 360 @512 (3) 146! e
d - ot
46. MOQ : PRU : - 7 : NPS
(1) UWY (2) KMO (3) JHF @) JLP.
‘7. - - A
(O 2 || B S
= e
| | &/
G} ) (3) (4) TSR
SPACE, FOR ROUGH WORK
0322/ Hindi Set-A 180£32 P10

Yy
[ABCDE[ FeHIJ [KLMNO | P'Q-R~Sv1§ér[ff'i§i:w§ﬂf |
(W43 R 47 fem- AR R T e e A A i SRR e 1
ST W S g § % v e @ WE W oE A 91 gee f
3, WA A R 2 (QFE T g N
o o= @ @

44, TR : B0 :oTE : 2 - 2 . -t A f !
3 N e - i
(1) KCI ; (2) NaOH (3) NaCI @ H@L_“ﬂ' % Al
45 253:450::341:2 (R m‘!wﬁzgﬁl{)
(1) 360 @S2

. MOQ : PRU ::?: NPS

O UWY

@Ko
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Q. 48 to 50 Directions : Study the following Pyramid.
: » 33, i
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32 Bad out the rale uiderying the ammn&m of numbers i the following
Question and choose the correct altemative that will replace the question tark,

o ORI O Q)
O ARD GO Qe Qs
O 0 Q) R
W 30 @ 36 ® 33 wn

Q. 33 to 87 Direction- In the following series, determine the e wnderlying the
sories and find out the torm in place of the question mark. e

832, 6 18 38, 84, ? 38

w

@)=

16 @ .mxes"; ol
« QN ANADAQUOHAN
o AD QA . \ '

§5. BC, CF, EI, GL, KO, ? QU.
.  @NR
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Q. 58 and 59 Directions- A, B, C, D, E, F, G, H are the eight boys standing in
a circle facing each other, at an equal distance. D is standing next to A to his right
and E is in front of him. B is standing next to H, to his right and is in front of
G. In front of C, to the south D is standing; but F is not next to D.

© 58. Which direction H is facing 7
(1) North-East
(3) South-East

(2) South-West
(4) North-West

59. Who is standing to the East ? ;
@ C @B ®3) G 3 @ H

Q. 60 and 61 Directions— In the following quesuons a question ﬁgure is given,
Identify its water image from the glven alternatives.

»59"‘1???“‘%%733}%?

{

[ABCDE | FGHIy | kKLMNO [ PQRST | uvwva‘

"'53’59%W~Mwﬁmwmﬁﬁaamzwnwﬁ_

S8, TR, W T W de e # s wd WS I B e s
@ T F R Y w1, W # S s e R =
*Wmiﬁ T E E g T F N A W R

58, aa}maﬁqzﬂﬁw%? : N
(1) Fm= s @) S B
(3) amE (4) T S e e

W= : @a @

e ¥ ama aw a@ﬁﬁ
60. Question Figure Answer Figure : ) : —

457|453 |4 ¢z 42y

2 @ @ v 3) “4)

1. Question Figure Answer Figure o
2| (ot [otres [t ForsR

(LY (2) 3) @

w :

0322/ Hindi Set-A 240132 —
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Q. 62 to 66 Directions— Find the odd term.

62. (1) Hour-our 2)

(3) There-their _ “)
63. (1) 327 2)
- (3) 532 43 “)
64. (1) Italy-Rome e (2)

(3) U.S.A-New York 4)

65. (1) ADH e @ RV’

-~ (3) KNR @)

e () Fm "

6. (1) 27 Vo

l' N T [

W 62 ¥ 66 § Wy % 7 45k At ww qf.-w s

O

@ » S R Gen
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68. From the following number series, find the odd term.
12, 15, 20, 23, 28, 34, 38, 45

(1) 34 2) 20 (3) 28 (4) 45

Q. 69 and 70 Directions— In a certain code language ‘I cat chappati’ is written as
BAN. ‘T sell books’ is written as CNO and ‘Amar reads books’ is written as OBM.
Then.

69. Which letter is used for the word ‘sell’ ?
1) N @0, 3 C 7 @) A

70. Which letter is used for the word ‘I" ?
(1) B @ cC 3) 0 4 N

Q. 71 and 72 Directions—Choose the correct figure from the alternatives which
exactly matches with the question figure.

71. Question Figure Answer Figure
9 [@@F

(€8] 2) 3) 4)
72. Question Figure Answer Figure

0 [@BIC®

SPACE FOR ROUGH WORK
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68, mﬂmwmﬂﬁqﬁm
12, 15, 20, 23, 28, 34, 38, 45

(13434 @) 20 @ 28 (@) 45

W. 69 T 70 & fou- us wafew W § ‘w9 W @OW' B BAN fawd ¥, ‘T

‘Wﬁm H CNO forad ¥, 3R ‘T west @’ aﬁonmfmaa%‘a?

69. ‘TITN YR B fow wE-m wiefaw wEw @ 82
() N @0 3 C @ A

70. ‘W' W= @ fou FE-m @Rl SEw S #2 ;
mB Qe 3) 0 @)

71 mﬁaiaﬁaﬁmmnﬁuﬂﬁgﬁm

2@ @
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73. A square sheet of paper is folded and cut as shown in the question figure. How
will the figure look like when the paper is unfolded. Choose the correct

alternative.

!' ' ‘ E - - ‘
‘ u s
(1) @) 3) 4)

74. Find the hidden part of the question figure from the alternatives given.

- BEEE

(1) @

3)

kst 2 B ¥ B
| ' (o)) @ . 8 :
— QA'(EAPO-BROUGBWQRK ‘
s
0322/ Hhuh Set-A ; 300f32

4)

75. Choose the correct alternative to complete the ﬁuoisﬁoﬁ figure,

W T W FA-a st a2

—

[ABcOE [ Fonis [Kimno [ParsT [Uvwxy]

73. FTTEN T F F Higew fafere @@ 9 B T @A R

s g 1 i
i !
;———? m : : ) : ﬂ
2 1
: (1) ) 3) (@) -

74, FTHN W ZW g AW vEEm g ¥ 9w

=

=

(D 2)
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